TEITOHAJP3E
HBIFBITEY hom
KaOarJay.
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Mackaio cucey.
0 5



[Tapabr a1
Ne 8




TuKLwepey:

3*10=10*8
7*10>10%*6
T*2+2=8%2
0%2-2=10*2



CBIFapHhly.
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baranainan
MCOILIQY.
Nol2
1B-1-ce Oarana
. 2B- 2-ce OaraHa




43 94
+51 -51
94 43

71 23
- 48 +48
23 71

32 95
+63 -63
95 32
36 95
+59 - 59
95 36



» A xTapsl 3¢cm
OynraH KBaJpar
he3pipra hom
YHBIH
EPUMETPHIH

! TaOkIpFa.




P=3*4=12cm
P=3+3+3+3=12cm



TECT.

1. Hunagown hanga 5 tugrto 9 6epomex?

* A) 59

*b) 95

* B) 91

2. Komeyce 83, aitpipma 3 Oyinha,
KOMETEYCE HUCD?

A) 86
B) 82
B)80



3. KBagparteiy sarel 3¢cM. llepumeTpsl
KYIIME?

A) 10cm
b) 9cm
B) 12¢cMm

4. (8*5)*5=8 MoHmo3coKTap ypHIHLIH/IA
HUHIOW TaMFajiap TOIOIl KaJlFaH

A) +,-
b) -+
B) +,+



1. A
2.B
3.B
4. A






